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seven thousand two hundred ninety eight
D [1055]
() HEEX D bRE DR 72 2 2 Bl

E [1057]

It has more than a 50-year history.
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( all ) ( the ) ( little ) ( money )
H
( you ) ( become ) ( wiser )
|
( three ) ( times ) ( the ) ( size )
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i 4 [% 2% 4]
J K
on with
L M
in to
IR 5 (%4 4% 5]
N
He [ worked hard enough to pass the examination 1.
@)
Could [ you tell me what made you so upset 1 with my email?
P
Can [ I book a table for five 1 at 12:00 next Monday?
Q
I [ wonder how much it will cost to replace 1 the kitchen.
R
| can’'t [ come up with anything right now 1.
P8 6 [#241% 4]
S T
in the face of
U Vv
get arrive
R 7 [% 2 % 4]
W X
( one ) ( of ) ( matter )( with )
Y Z
( heard )( from ) ( speak )( in )
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